math324-01-sul9 (Eppolito) HomeWOrk 14

’ Instructions: Complete each of the following on separate, stapled sheets of paper.

1. Solve the following IVPs via the method of Laplace transforms.

(a) v +6y=¢e';  y(0)=2

(b) v +y = e 3 cos(2t); y(0)=0

() ¥ —y=te'sin(t);  y(0)=0

(d) v +5y +4y=0;  y(0)=1, ¢ (0)=0

(e) v/ — 4y =3 —3e7; y(0)=1, ¢'(0)=-1
(f) ' =6y +9y =1t y(0)=0, y'(0)=1

(g) ' =6y +13y=0;  y(0)=0, y'(0)=-3

(h) y" —y =e'cos(t);  y(0)=0, ¢ (0)=0

(i) " +9y =cos(3t);  y(0)=2, ¥ (0)=5

G) v +2y" —y' — 2y = sin(3t); y(0) =0, ' (0)
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